D 2EEdE= A 2EMD
D MS2IEAIEY JBtEd

o

L NGRS o KR

Ve
>~

g 8 A A

CEA - BE . GRI(BH) - NSRAY - BES 0] a0t ol H o CImE=E
s = 136,499,913 145,171,323 28,671,410
= 12,317,330 9,731,330 2,586,000

s 600,000 600,000 0

| 16,891,900 17,991,900 21,100,000

£ 2,500,000 1,500,000 1,000,000

= 13,503,251 13,262,118 241,133

Al 89,787,432 102,085,975 A 12,298,543

== 900,000 0 900,000

EcIPS R 35,805,366 33,273,366 2,532,000
= 7,800,000 5,230,000 2,570,000

| 3,430,430 3,430,430 0

= 3,793,385 3,421,385 372,000

Al 20,781,551 21,191,551 A410,000

SFEAISH It 19,937,180 17,792,180 2,145,000
= 2,670,000 100,000 2,570,000

3,430,430 3,430,430 0

s 2,375,925 2,375,925 0

11,460,825 11,885,825 A425,000

A=2ssd & N 11,930, 180 12,250,180 320,000
= 100,000 100,000 0

3,430,430 3,430,430 0

= 610,925 610,925 0

7,788,825 8,108,825 A320,000

Ol=32h =& 1973 1,032,000 1,352,000 A320,000
207 A= IH ] 0 20,000 220,000
02 MADHE] 0 20,000 220,000
O3 1973 EHIO0IK 75 0 20,000 220,000

401 AIEHIZL 28I 1,002,000 1,302,000 A300,000
01 AlIZHI 970,000 1,270,000 A300,000
OJIBAIE & =XHE ZEZA 970,000 1,270,000 300,000
ZSNE2E 2el 4,463,000 1,998,000 2,465,000
= 2,570,000 0 2,570,000

= 15,000 15,000 0

1,878,000 1,983,000 A105,000

H==AlElls=2 AHE 50,000 150,000 A100,000
401 AIEHIZ 2018 0 100,000 A100,000
01 Al&Hl 0 100,000 A 100,000
OX=ASEH0|=2 AHE 0 100,000 100,000
SIRESE 2H=E ME MAI2 HE 2,500,000 0 2,500,000
= 2,500,000 0 2,500,000

401 AIEHIZL 28I 2,500,000 0 2,500,000
= 2,500,000 0 2,500,000

01 AlIZHI 2,500,000 0 2,500,000




a3 FIMsZE= A SE ML
M MSEITASY JIBtx Yy
el SEAE2E 2l EER=E)
A 2A - FH . G(BH) - NRAY - BES 0 &y ol B o HIRS
Os=ZsE ZH= HE dAZ AHY 2,500,000 0 2,500,000
= 2,500,000 0 2,500,000
st 2332t Al & 29 55,000 60,000 25,000
201 Ler23 | 50,000 55,000 A5,000
02 S5=24g4l 50,000 55,000 5,000
OX2ME 282t Alg2el & 29 50,000 55,000 5,000
= Al Al OtEHE A8 70,000 0 70,000
= 70,000 0 70,000
401 A& BIL S THYI 70,000 0 70,000
= 70,000 0 70,000
01 Al&HI 70,000 0 70,000
OX= AT Al OLEME A Jl=] 70,000 0 70,000
= 70,000 0 70,000
=stile |4 4,931,320 4,564,320 367,000
= 600,000 600,000 0
< 1,202,460 835,460 367,000
Al 3,128,860 3,128,860 0
SSHHALI R 4,789,600 4,422,600 367,000
= 600,000 600,000 0
< 1,202,460 835,460 367,000
Al 2,987,140 2,987,140 0
Uet2l= Eas0uA 25,000 10,000 15,000
< 15,000 0 15,000
Al 10,000 10,000 0
307 2I2to1 25,000 10,000 15,000
< 15,000 0 15,000
Al 10,000 10,000 0
02 IHBAMAHEE 25,000 10,000 15,000
Ofeiel= 2ASUUHE(HAESEHALR) 25,000 10,000 15,000
(= 15,000 0 15,000
Al 10,000 10,000 0
M0 FRstet 2HME 10,000 5,000 5,000
< 5,000 0 5,000
Al 5,000 5,000 0
307 2I2t01 10,000 5,000 5,000
< 5,000 0 5,000
Al 5,000 5,000 0
02 QB AANGER 10,000 5,000 5,000
OFF0 st SHNE(HAMESEHALE) 10,000 5,000 5,000
< 5,000 0 5,000
Al 5,000 5,000 0
Eot0l= Edst AFAXI 568,900 221,900 347,000
[ 568,900 221,900 347,000




a3 FIMSZES A SE ML
33 230ls 54
Chel: SStHALKIRA (SH9 H2)
A2 2N - BB O9(E) - HISAY - BES il v ol H o CImE=E
307 2Ito1d 568,900 221,900 347,000
< 568,900 221,900 347,000
02 B AAHEE 568,900 221,900 347,000
02023 St=AIdSEY SASZ(HAEEA
AHE) 10,000 0 10,000
[ 10,000 0 10,000
0== 2A=H(CIMLBIAIS) 5,000 0 5,000
< 5,000 0 5,000
O3 SNots =FSASI(MAEE
TALE) 5,000 0 5,000
< 5,000 0 5,000
OXFCIREHAEHUMSEMALS) 30,000 0 30,000
< 30,000 0 30,000
ON43 Z2AN SS=H (S EEAL
) 10,000 0 10,000
< 10,000 0 10,000
OF= 2 HAE AFS(MIASEEALE) 10,000 0 10,000
< 10,000 0 10,000
©20238 HMet=ST Z=SSEM (OIS AL
) 10,000 0 10,000
< 10,000 0 10,000
ORXIgal &t=20ts SDIEt 2ol SA4EZ (0
AEEIEALE) 20,000 0 20,000
< 20,000 0 20,000
OMEYE &= MNAZ oi==HoMdEd
AHE) 5,000 0 5,000
[ 5,000 0 5,000
et ZSAF(HAESEHALE) 15,000 0 15,000
(= 15,000 0 15,000
ORUAEHAEM 190=E IS M E(0]
AE ST ALR) 10,000 10,000
< 10,000 0 10,000
OXFAIL & O2ASE FIE 2a3H A
S(OIMEHEAIS) 5,000 0 5,000
< 5,000 0 5,000
OZ2Y0 2a=H(oMdETAIS) 5,000 0 5,000
< 5,000 0 5,000
ONSUE OotHEE & MATSI&
LHD| AL (CAEEEAIR) 7,000 0 7,000
< 7,000 0 7,000
OLAZ2 JIQM(GIAEEEAIE) 3,000 0 3,000
< 3,000 0 3,000
ORNI53| SH=MENQM(HALEEALS) 4,000 0 4,000
[ 4,000 0 4,000




A2 REHsAEY= A 25
M 230l =4
Chel: SStHALKIRA (SH9 H2)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel | & A Hlwsz2
ON43| M=st=20t2 H=ALS TSI (0lAr
SHEEAIZ) 3,000 3,000
& 3,000 3,000
OXISUHZAEE RSt S2FBAAI (0l A
HYHAIZ) 8,000 0 8,000
= 8,000 0 8,000
©2023 F3HAIZ OO HIAEIE (Ol At
HAIE) 8,000 0 8,000
& 8,000 0 8,000
OJI2 & SHS0IE (MAEEREAIR) 10,000 0 10,000
= 10,000 0 10,000
o8 oY S8t J|d g3 I3 2HE(l
MEBEEAIE) 10,000 0 10,000
= 10,000 0 10,000
OMI13 SL3H AdsE 2I=EE (0SS
HALE) 10,000 10,000
= 10,000 10,000
OHM73| Of2l2 OH0l E= M (ALY EE AL
) 10,000 10,000
= 10,000 0 10,000
OHEA & HZS| Once upon a dream( I A A
AHE) 10,000 0 10,000
& 10,000 0 10,000
OsHtY ER(MAEETAIR) 6,000 0 6,000
& 6,000 0 6,000
OstE stote SHI(HASEEALE) 10,000 0 10,000
& 10,000 0 10,000
OZ2F otLtEI0f EXl= 0l0FII (0l At A
AHE) 5,000 0 5,000
& 5,000 0 5,000
ONHSAL H 'SASA'S FHOLM (0L
SHYEAIZ) 10,000 0 10,000
& 10,000 0 10,000
ON13l A (ML EHALE) 10,000 0 10,000
= 10,000 0 10,000
OLEH AHMCHE (A S - EALZ) 10,000 0 10,000
= 10,000 0 10,000
ol EH(MALETAIR) 30,000 0 30,000
& 30,000 0 30,000
OHM6sl JteioiE 2EEH(HALSEEALE) 5,000 0 5,000
& 5,000 0 5,000
OJI2Y FoDIQAE (M AL B EAIR) 5,000 0 5,000
& 5,000 0 5,000
ON203 =M 2=F AU (MA8EA
ALE) 10,000 0 10,000
= 10,000 0 10,000




a3 FIMSZES A SE ML
33 230ls 54
Chel: SStHALKIRA (SH9 H2)
A2 2N - BB O9(E) - HISAY - BES il v ol H o CImE=E
ON33 & IS SLS(HMLBHAIS) 7,000 7,000
< 7,000 7,000
OODIcHE &t HAH 5|2 JHI(MASEA
AHE) 3,000 3,000
< 3,000 3,000
OHt2|E Nd8o HSZHME(CMEZ A
) 10,000 10,000
< 10,000 10,000
OZ3=L=A HAHE 23M=LE HA
El(MAE HEALR) 3,000 0 3,000
[ 3,000 0 3,000
et arate Jlgtas 10,215,140 10,210,140 5,000
= 4,530,000 4,530,000 0
< 215,000 210,000 5,000
Al 5,470,140 5,470,140 0
dFoety SHX 10,215, 140 10,210,140 5,000
= 4,530,000 4,530,000 0
< 215,000 210,000 5,000
Al 5,470,140 5,470,140 0
24 20l - Fad SatAl 9,300 4,300 5,000
< 5,000 0 5,000
Al 4,300 4,300 0
307 2IZtold 9,300 4,300 5,000
[ 5,000 0 5,000
Al 4,300 4,300 0
02 LB HAHE L 9,300 4,300 5,000
OZ4 oelol - HAE SHHI(ol At I A
) 9,300 4,300 5,000
< 5,000 0 5,000
Al 4,300 4,300 0
HY2HHHI(23E24m) 566,930 551,930 15,000
olE2gtl(23rE ) 476,330 461,330 15,000
2 gHI(=2stE ) 476,330 461,330 15,000
101 QI24H| 476,330 461,330 15,000
01 = 476,330 461,330 15,000
OAteI22+E 476,330 461,330 15,000




Al A

og (Er9:&e)
SA - FB . GI(E) - NIRALY - BES o[- HimEE]

=il 5,055,898 5,651,440 AB635,542

= 6,000 6,000 0

s 600,000 600,000 0

| 300,000 400,000 100,000

= 823,450 794,650 28,800

Al ,326,448 3,850,790 AB24, 342

2 ZTAl DBt = 3,243,787 ,349,987 106,200

s 100,000 100,000 0

| 300,000 400,000 A100,000

= 608,450 579,650 28,800

Al 2,235,337 2,270,337 235,000

=st2td dg XA ,935,250 ,041,450 A106,200

s 100,000 100,000 0

| 300,000 400,000 A100,000

= 583,450 554,650 28,800

Al ,951,800 1,986,800 A35,000

Al - 394t =4 120,000 150,000 A30,000

301 LetEEZ 30,000 60,000 A30,000

14 JIEt2 43 20,000 50,000 230,000

OHAl - 224 QIMIEIE XA 20,000 50,000 230,000

St B 5t 200,000 300,000 A100,000

s 100,000 100,000 0

| 0 100,000 100,000

Al 100,000 100,000 0

307 QI2Hol M 200,000 300,000 A100,000

= 100,000 100,000 0

| 0 100,000 A 100,000

Al 100,000 100,000 0

02 QIRHE &AL 200,000 300,000 A100,000

OoMaEaa 2o 200,000 300,000 100,000

= 100,000 100,000 0

| 0 100,000 A100,000

Al 100,000 100,000 0

HFAl =2 FH 2 45,000 50,000 25,000

201 Let2| 45,000 50,000 25,000

01 Ar2eltl 45,000 50,000 25,000

OFFAl =2 45,000 50,000 A5,000

SAIE DRI 28,800 0 28,800

s 28,800 0 28,800

402 QI2ERH=01 N 28,800 0 28,800

T 28,800 0 28,800

02 QIZEXH2 AL 22 (01 & &) 28,800 0 28,800

O=YAI4 JHEX 28,800 0 28,800




[0 HO MO

=1
";Tao

tol foir ol

0k O
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]
P}
o

A

S BB S9(BH) - ARAY - BES ol ® o HimE=T
< 28,800 0 28,800
o Dl RAE(238 1,746,000 2,236,000 A490,000
= 6,000 6,000 0
s 500,000 500,000 0
== 215,000 215,000 0
Al 1,025,000 1,515,000 490,000
falgeakeiy 1,746,000 2,236,000 490,000
= 6,000 6,000 0
s 500,000 500,000 0
S 215,000 215,000 0
Al 1,025,000 1,515,000 A490,000
SAZTZEHIER2 ALY 510,000 1,000,000 A490,000
s 500,000 500,000 0
Al 10,000 500,000 490,000
401 AlIEHIZL 2 0HY| 510,000 1,000,000 A490,000
s 500,000 500,000 0
Al 10,000 500,000 490,000
01 AlIEHI 510,000 995,000 A485,000
OsAl2&EXE 510,000 995,000 485,000
Fas 500,000 500,000 0
Al 10,000 495,000 485,000
03 AIZ 2 0HHI 0 5,000 A5,000
OsSA2ZEXE 0 5,000 A5,000
S(2ZAr) 18,923 18,265 658
& (224 m) 18,923 18,265 658
ITHISEZEre(2a 18,923 18,265 658
802 Btet= DI Et 18,923 18,265 658
01 2 NEXFEHE 401 0 401
02023 R==AMZ 401 0 401
02 Al - SHIZEXZE 18,522 18,265 257
02023 oHlMAZX W= 152 0 152
02023 Al 2+ 105 0 105




H & 0l & AHS B Ml A

od
i’
oF
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-

KIO

Hlw

38,000

38,000
38,000

38,000
38,000

38,000
38,000
38,000
38,000
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ol ® o
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8,769,000
2,678,100
10,817,049

837,130
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H & 0l & AHS B Ml A

CRAHB . BR(B) - NRAY - BES o ar o HIDS2
A3t 25,845,809 26,693,448 N84T 639
2 4,511,330 4,495,330 16,000
| 300,000 300,000 0
= 3,797, 142 3,759,300 37,833
A 17,237,387 18, 138,800 AQ01,472
BESY 6,239,113 6,561,777 £322,664
2 2,243,330 2,243,330 0
= 1,760,589 1,729,589 31,000
Al 2,235, 194 2,583,858 353,664
eI T 3,474,002 3,760,500 286,468
2 1,608,610 1,608,610 0
= 1,050,445 1,050,445 0
A 814,977 1,101,445 286,463
DINF2Y L S22 24JH|(FLS 7 o 149,432 180,000 A30,568
Che 24 &)
2 9,000 90,000 0
= 45,000 45,000 0
Al 14,432 45,000 A30,568
401 A8 2 20H| 149,432 180,000 A30,568
2 90,000 9,000 0
= 45,000 45,000 0
Al 14,432 45,000 £30,568
01 Altl 149,432 180,000 A30,568

ORI 2N L SES3H 24T (
Qs 7 e 24 87) 149,432 80,000 £30,568
= 90,000 90,000 0
= 45,000 45,000 0
Al 14,432 45,000 A30,568
IINESHH 2 SSSs 223HI(ZII FH 540,000 600,000 60,000
SCHy)
= 420,000 420,000 0
= 90,000 90,000 0
Al 30,000 90,000 £\60,000
PEREE T 540,000 600,000 160,000
=2 420,000 420,000 0
= 90,000 90,000 0
Al 30,000 90,000 160,000
01 Al&H| 540,000 600,000 760,000
ORI 2 L S=23H 24| (
21T BW HECE) 540,000 600,000 60,000
=2 420,000 420,000 0
= 90,000 90,000 0

Al 30,000 90,000 60,000




a3 FIMsZE= A 1 SatEAH
M 2o BESH
Cel: 23 E+FHI EER=E)
AR -2 - B - S9(3H) - NRAY - BES Ofl r ot )l E o HRE2
2V L SE2HM E+FHI(HDME 4 464,887 500,000 A35,113
)
= 350,000 350,000 0
[ 75,000 75,000 0
Al 39,887 75,000 A35,113
401 Al&BIL LY 464,887 500,000 A35,113
= 350,000 350,000 0
< 75,000 75,000 0
Al 39,887 75,000 A35,113
01 AlZHI 464,887 500,000 235,113
O=IINE23M & SE28HM 2+FHI(
HOME g9 B) 464,887 500,000 235,113
= 350,000 350,000 0
< 75,000 75,000 0
Al 39,887 75,000 A35,113
SVNEE & SSE2SHM EFHI(ZIIE ==X 167,277 180,000 N22,723
H W)
= 126,000 126,000 0
< 27,000 27,000 0
Al 4,277 27,000 NR2,723
401 Al&BIL S CHYI 167,277 180,000 NR2,723
= 126,000 126,000 0
< 27,000 27,000 0
Al 4,277 27,000 N22,723
01 Al&ZHI 167,277 180,000 N22,723
O=IHXE2aM & SE28M 2+FHI(
ZIIE Hi==HH H&) 157,277 180,000 N22,723
= 126,000 126,000 0
< 27,000 27,000 0
Al 4,217 27,000 N22,723
S oHLE FH| 6,315 6,740 2425
= 2,110 2,110 0
< 2,315 2,315 0
Al 1,890 2,315 N425
201 fet= 3| 2,400 2,400 0
= 720 720 0
< 840 840 0
Al 840 840 0
01 At2teltl 2,400 2,400 0
eHE Eet ZE 2,400 2,400 0
= 720 720 0
< 840 840 0
Al 840 840 0
401 AlEBIYL S THYI 3,915 4,340 2425




a3 FIMsZE= A 1 SatEAH
M 2o BESH
Cel: 23 E+FHI EER=E)
A= - BA - 3H - SA(SAH) - NIRAY - BES Ofl &F2H I8N Hws2
= 1,390 1,390 0
< 1,475 1,475 0
Al 1,050 1,475 2425
01 Al&ZHI 3,915 4,340 2425
OCHHE XM= &XI 3,915 4,340 2425
= 1,390 1,390 0
< 1,475 1,475 0
Al 1,050 1,475 N425
HEAME LTHAIAE R=(MLA 110,250 126,000 A15,750
= 63,000 63,000 0
< 31,500 31,500 0
Al 15,750 31,500 A15,750
402 RIZERHZ0I1H 110,250 126,000 A15,750
= 63,000 63,000 0
< 31,500 31,500 0
Al 15,750 31,500 A15,750
02 QI A2 AL E (01X THE) 110,250 126,000 215,750
OTSAE STHAIAE RE(MH DA 110,250 126,000 A15,750
= 63,000 63,000 0
[ 31,500 31,500 0
Al 15,750 31,500 A15,750
HSAHE BEOAE X (sa2) 75,000 100,000 £25,000
< 50,000 50,000 0
Al 25,000 50,000 125,000
402 RIZERHE0I1H 75,000 100,000 ~25,000
< 50,000 50,000 0
Al 25,000 50,000 225,000
02 RIENEASEZ(0IETHR) 75,000 100,000 ~25,000
ONESAIE HOAIL XA (S A 75,000 100,000 ~25,000
(= 50,000 50,000 0
Al 25,000 50,000 25,000
CXE 23 E+FHI(FHU XIS HHME=SAH 86,900 94,000 27,100
< 47,000 47,000 0
Al 39,900 47,000 27,100
401 AlEBIYL LY 86,900 94,000 27,100
< 47,000 47,000 0
Al 39,900 47,000 27,100
01 Al&HI 86,900 94,000 27,100
OZXNE 23t 2=FHI(Z&U XIS HA
S=3AH 86,900 94,000 27,100
< 47,000 47,000 0
Al 39,900 47,000 A7,100




SN BB S2(B) - NRAY - B S 0 & ol o
SXE S5 2AFHI(AZA SEOIEO N 2 144,180 165,000
ATH XISESZA

= 8,500 82,500

Al 61,680 82,500

IEREETT 144,180 165,000

= 82,500 82,500

Al 61,680 8,500

01 Al&H 144,180 165,000

OSXE 23 24+FHI(AZA SX0H0|

EFOICHENA, A XIZ24BAH 144,180 165,000

= 82,500 82,500

Al 61,680 82,500

SXE 2 24E0I(ME FAE gFaR| 8,227 150,000
HEZINLAIY)

= 75,000 75,000

Al 7,227 75,000

401 A& HI L ORI 8,227 150,000

= 75,000 75,000

Al 7,227 75,000

01 Al 8,227 150,000

OSNE 2 243U (M2 A8 &

IR U SHSANLAIY) 8,227 150,000

= 75,000 75,000

Al 7,227 75,000

EXE 25 2RE0I(MDA LS Xg24 65,804 67,000
B ASTH| BAH

= 33,500 33,500

Al 3,304 33,500

401 A &HIZ 20| 65,804 67,000

= 33,500 33,500

Al 3,304 33,500

01 Al&H 65,804 67,000

OSNH 23 24FHI (MDA LIBHE X

sS4 9 =8 S2HH| BA 65.804 67,000

= 33,500 33,500

Al 3,304 33,500

Sl 25 ¥ 28 2,765,081 2,801,277

=2 634,720 634,720

= 710, 144 679, 144

Al 1,420,217 1,487,413

S5 A&z 157,400 167,400

201 Ypte | 105,000 115,000

2 ZZ 2| 90,000 100,000

O3 Algzel 90,000 100,000




A= FaMsZE= 2M 1 23R40
M 2o BE=s4
tel: 23 25 2 28 (SH9 H2)
A= 24 - 3 SR(3) - NIRAY - BES Off &K & A HusZ
EHH HHBHIE X & 28 493,037 550,233 A57,19%6
= 223,720 223,720 0
S 67,116 67,116 0
Al 202,201 259,397 AB7,19%6
101 @124H| 493,037 550,233 A57,19%6
= 223,720 223,720 0
S 67,116 67,116 0
Al 202,201 259,397 AB7,19%6
04 JIRHNIZ2Z2XSE+ 493,037 550,233 A57,1%6
OFZ3tMf etMAHIR Q12| 493,037 550,233 A57,19%6
= 223,720 223,720 0
= 67,116 67,116 0
Al 202,201 259,397 N57,19%6
&= A2 25HA 32,000 18,000 14,000
S 14,000 0 14,000
Al 18,000 18,000 0
307 gIztold 32,000 18,000 14,000
[ 14,000 0 14,000
Al 18,000 18,000 0
04 QIZFSHAIAIH B 32,000 18,000 14,000
o= AZ 23HMl 18,000 18,000 0
OFZF o2 M (GIAEETAIE) 14,000 0 14,000
= 14,000 0 14,000
d=st = 2=EAM 17,000 0 17,000
== 17,000 0 17,000
307 gIztol ™ 17,000 0 17,000
(= 17,000 0 17,000
02 QI HEANEE X 17,000 0 17,000
o= =¥ ZA=M(UMLHIAIS) 17,000 0 17,000
= 17,000 0 17,000
SAL2SIEAl = 12,706,847 13,422,969 AT16,122
= 2,268,000 2,252,000 16,000
== 2,026,553 2,019,720 6,833
Al 8,412,294 9,151,249 A738,955
2R =2 & |4 12,706,847 13,422,969 AT16,122
= 2,268,000 2,252,000 16,000
= 2,026,553 2,019,720 6,833
Al 8,412,24 9,151,249 AT38,955
LM H=AE WS XIZAY 31,833 0 31,833
== 31,833 0 31,833
402 QIR0 & 31,833 0 31,833
(= 31,833 0 31,833
02 QI T2 AIE 2R (0IMTHE) 31,833 0 31,833




A= EMSsAE= 2L 2eRA
M AAESTA =4
el Estra =3 2 54 (SH9 H2)
A= - 24 - 3 - GRA(3H) - HRAY - B Ofl &F2H I3 A Hwusz
OFE=3M Al XEAHY 31,833 0 31,833
< 31,833 0 31,833
CXE L2 dsgs X 946,140 968,100 A21,960
< 313,320 313,320 0
Al 632,820 654,780 A21,960
301 LEtEN S 946,140 968, 100 ~21,960
< 313,320 313,320 0
Al 632,820 654,780 A21,960
14 JIEtEA S 946,140 968,100 A21,960
OXXE RN dsEs N2 946,140 968,100 A21,960
< 313,320 313,320 0
Al 632,820 654,780 A21,960
HFINE=018+2 29 256,021 284,021 28,000
101 Q144 159,740 169,740 10,000
M IIZN 22 RS2+ 159,740 169,740 10,000
OEFIIE=01H+-2 2 169,740 169,740 10,000
201 Ler2aY| %,281 114,281 18,000
2 s==3tl 43,794 61,79 18,000
OTFIIE=01"+-2 28 43,794 61,79 18,000
S AEUE EEIFNE 1S S0 71,280 150,000 AT8,720
207 AA7HE ] 71,280 150,000 AT8,720
01 A2 EHI 71,280 150,000 AT8,720
O=UHH A& EZSIMA - st=AF 71,280 150,000 AT8,720
Seistigd dMAl2 2g2e 60,608 65,608 5,000
101 2124 41,208 46,208 5,000
M IRINZ22RSE+ 41,208 46,208 5,000
OssIs2Igg MAlZ 22 41,208 46,208 5,000
SUH Sstest 28 StEXA 450,000 500,000 50,000
< 225,000 250,000 A25,000
Al 225,000 250,000 225,000
401 AlZHIL 2 0HY] 450,000 500,000 50,000
& 225,000 250,000 A25,000
Al 225,000 250,000 A25,000
01 AlZHI 450,000 500,000 50,000
OZLY=ZA 450,000 500,000 50,000
= 225,000 250,000 A25,000
Al 225,000 250,000 A25,000
SPEH(SNY) 22 - 2 B2 D™ (HEA 284,000 568,000 284,000
&)
< 284,000 284,000 0
Al 0 284,000 A284,000
401 AlZHIL 2 0HY] 284,000 568,000 A284,000
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2
D AAZSEAl 2
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?: Setei =@ % =54 (SH9 H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao ol E o timE=FT

[ 284,000 284,000 0

Al 0 284,000 284,000

01 AlZHI 284,000 568,000 284,000
OsAMH(SNNY) a2 - T Ze g22

=4 284,000 568,000 284,000

< 284,000 284,000 0

Al 0 284,000 /284,000

OHEZ3 M REXNS 20T AFY 183,725 200,000 216,275

= 140,000 140,000 0

< 30,000 30,000 0

Al 13,725 30,000 A16,275

401 AlEHIYL S THYI 183,725 200,000 A16,275

= 140,000 140,000 0

< 30,000 30,000 0

Al 13,725 30,000 A16,275

01 Al£HI 183,725 200,000 216,275

Ol =stl REXNS 213 A 183,725 200,000 216,275

= 140,000 140,000 0

[ 30,000 30,000 0

Al 13,725 30,000 A 16,275

SHHSAIZS Jdef & JI2HE ~2EY 120,000 400,000 280,000

< 120,000 120,000 0

Al 0 280,000 £280,000

401 AlEHIYL L THYI 120,000 400,000 280,000

< 120,000 120,000 0

Al 0 280,000 280,000

01 Al&HI 120,000 400,000 280,000
O=9HHAANZSA 8= & JI=H= =8

= 120,000 400,000 £280,000

[ 120,000 120,000 0

Al 0 280,000 280,000

= DI duKHE AN ALY 16,000 0 16,000

= 16,000 0 16,000

307 2Ito1d 16,000 0 16,000

= 16,000 0 16,000

02 2B YA R E £ 16,000 0 16,000

OX= IS HURA HRXZ AtY 16,000 0 16,000

= 16,000 0 16,000

HWRES (234 512,206 321,059 191,147

SN E(2st740) 512,206 321,059 191,147

ICHIEXSEE(23R AL 512,206 321,059 191,147

802 gtet=JIEt 512,206 321,059 191,147

01 2DNEXILHEZ 331,258 249,310 81,948
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Ol & A S & Al A

A BRAS [E=Faig=a T,

¢ e (49 &2)
4224 - FY . OR(S) - HRAY - BES ofl &t ol H o HIDE2
e 47,490,691 57,288,920 9,798,229
] 4,092,470 5,002,470 1,000,000
= 2,500,000 1,600,000 1,000,000
< 2,411,174 2,608,674 A 197,500
Al 37,567,047 8,067,776  A10,500,728
== 900,000 0 900,000
EREEEE 13,619,271 14,576,675 A%7,404
] 2,562,470 2,662,470 0
= 1,811,174 1,608,674 202,500
A 9,255,627 10,415,531 A1,159,904
NEzE 548 A 5,291,245 6,407, 149 AT,115,904
] 264,500 264,500 0
= 167,240 177,240 10,000
A 4,869,505 5,965,409 1,105,904
MEANE BANCH 2 63,568 74,900 26,312
301 LurEEZ 63,568 74,900 26,312
ZSIEERE 63,563 74,900 26,312
OIS ES = 60,944 65,228 4,284
osix3 0 4,284 4,284
CEELEE 7,644 9,672 72,028
NEREH)|T 23 1,463,978 2,444,016 975,038
301 LEHoE3 1,463,978 2,444,016 975,038
2 AT - 25S2Eaa 1,468,978 2,444,016 975,088
OB0(NE 7Y, 614-23%) 768,000 1,504,624 AT56,624
o4 A3l2Ek) 100,000 140,000 740,000
OHi4 JtHl (BHERIES) 0 40,000 40,000
CERE 100,000 60,000 40,000
CECEE 16,000 18,000 £3,000
CHET] 53,750 84,500 A 10,750
ouslE Al 3,000 42,000 A7,000
oFTEH| 70,000 84,000 A 14,000
CEEI= 16,800 24,000 A7,200
CEEE 100,000 60,000 40,000
o248+ FUBSH 2,500 4,000 A1,500
CLEEE R 88,000 175,080 87,080
CEELELET 7,200 20,000 A 12,800
CEI=EEI=E 3,322 63,600 730,287
CELEEEEIE 20,231 54,125 £23,8%
OIS SII-LECEEE 3,709 6,642 72,983
CnEEEELEE 14,903 26,681 ATI,T78
CIN LR 7,6% 14,027 26,192
NEREHIIRME 5L =Y @ F6l A4 297,946 422,500 A 124,554




D 2EEE
D HsdE #
DHsdE =

A BRAS [E=Faig=a T,

7l 2 EERE)
A2 2N - BB C(SH) - MRAY - BAS 0l &y ol 8 o tmE==]

201 Lpr22H| 263,746 332,000 168,254

01 At2el| 206,346 259,200 152,854

OEEEN 41,760 57,600 15,840

o=zl 135,600 165,600 30,000

O2tAlH| 28,986 36,000 A7,014

02 BZ2H| 57,400 72,800 215,400

0ZTRZ % MAl 13,600 24,000 210,400

oz 12,000 19,200 A7,200

0=2i% A2 1,600 4,800 A3,200

OAIEREI R 43,800 48,800 ~5,000

Oxt - M| 19,000 24,000 £5,000

405 XHAHE S| 34,200 90,500 156,300

01 KAt 2E 3 S| 34,200 90,500 156,300

ozENY 7Y 0 41,000 241,000

oOF=A 22 0 9,500 £9,500

OAIOI2% ALOIZ 34,200 40,000 ~5,800

HFEAQERC X2 590,000 600,000 210,000

= 30,000 40,000 210,000

Al 560,000 560,000 0

307 QI2HOIH 590,000 600,000 210,000

= 30,000 40,000 10,000

Al 560,000 560,000 0

02 QP A AL B 590,000 600,000 10,000

OFSEINLIE-S=INE 590,000 600,000 210,000

= 30,000 40,000 210,000

Al 560,000 560,000 0

HSHs 22 N 3,273,215 3,477,215 204,000

p] 250,000 250,000 0

= 517,000 677,000 A 160,000

Al 2,506,215 2,550,215 A44,000

TFEAZH MEHS =3B 0 5,000 A5,000

307 QI2H0IH 0 5,000 £5,000

04 QIFHALA I B 0 5,000 ~5,000

OM113l BFAZ MEHS 2872043 0 5,000 ~5,000

HEAZH MBHS 2420 2RENS 14,000 9,000 5,000

= 5,000 0 5,000

Al 9,000 9,000 0

307 QI2HOIH 14,000 9,000 5,000

= 5,000 0 5,000

Al 9,000 9,000 0

04 QIIHALAI B 14,000 9,000 5,000




D 2EEEE S
D HMsdE #2438
A=t 22 X

2X=

A BRAS [E=Faig=a T,

AZ - 2A - FB . OI(SH) - NRAY - BES 0] a0t ol & o HimEE]

OHFAITH MEHS +42318A01TRE

sl (Gl AL EEALR) 14,000 9,000 5,000

T 5,000 0 5,000

Al 9,000 9,000 0

S=AZH 23S SOEOITHE 8,000 5,000 3,000

= 3,000 0 3,000

Al 5,000 5,000 0

307 2I2+01™ 8,000 5,000 3,000

L= 3,000 0 3,000

Al 5,000 5,000 0

04 QIZFHAIAIE E X 8,000 5,000 3,000
OXFAIZH MEHS ROEHOICHS] (0l A

HXAIR) 8,000 5,000 3,000

= 3,000 0 3,000

Al 5,000 5,000 0

S=AZH MEHSE UHIZ2ZUE 0 5,000 /5,000

307 gI2tol 0 5,000 A5,000

04 QIZIHAIAIE E X 0 5,000 25,000

OHMI03] M=AIEH MEX=S LIHIZSZUS 0 5,000 25,000

A S MEHS HI2SAUE 0 5,000 Ab,000

307 QI2H0| M 0 5,000 25,000

04 QIZFSHAIAIZ B &= 0 5,000 A5,000

ON242] =AIZH MEMS d=8AH] 0 5,000 A5,000

HA=AED| U 0 5,000 25,000

307 QI2Hol M 0 5,000 25,000

04 QIZHHAIAIRIE & 0 5,000 A5,000

OHNi6al dF=AIEI| FSae 0 5,000 /5,000

NE =M 2XH0 OtietEdz & 0 4,000 24,000

307 gI2Hol 0 4,000 A4,000

04 QIZIHAIAIE E X 0 4,000 24,000

OMZ2 2H EXMo DietEts &H 0 4,000 4,000

A= E IHEHAZUS 0 75,000 AT75,000

& 0 75,000 275,000

307 gI2Hol ™ 0 75,000 A75,000

= 0 75,000 275,000

04 QIZISHAIAIRIE & 0 75,000 275,000

ONF2E ZHEHHHE 0 75,000 A75,000

T 0 75,000 75,000

FIHSAZLRE 2| MISHA0I2UHE 90,000 85,000 5,000

= 20,000 15,000 5,000

Al 70,000 70,000 0

307 QI2Hol A 90,000 85,000 5,000

T 20,000 15,000 5,000




=2 EsMs2E

N HSIE &

A BRAS [E=Faig=a T,

Sh =85 243t
=Rl M=ta 29 A (SH9 H2)
AT 2A B BR(E) - HRAY - BES 0 & o[- HimE==T
Al 70,000 70,000 0
04 DIZHHATAIZ B & 90,000 85,000 5,000
ORSHSZZARHI| MISHMALOIZH
(AL E A ALR) 90,000 85,000 5,000
& 20,000 15,000 5,000
Al 70,000 70,000 0
d=et=0ts d=F72032 70,000 65,000 5,000
< 15,000 10,000 5,000
Al 55,000 55,000 0
307 2I2to1 70,000 65,000 5,000
< 15,000 10,000 5,000
Al 55,000 55,000 0
04 DIZFHATAIZ B X 70,000 65,000 5,000
OHFE=0tE MIFTAUE! (O - T AL
£) 70,000 65,000 5,000
< 15,000 10,000 5,000
Al 55,000 55,000 0
HFE=20te AXZXZH0/USSIUS 40,000 45,000 25,000
< 10,000 15,000 25,000
Al 30,000 30,000 0
307 2I2to1H 40,000 45,000 25,000
< 10,000 15,000 5,000
Al 30,000 30,000 0
04 QIZFHAIAIS E = 40,000 45,000 25,000
OXFEI=R0tE AX=ZLH0I1LYSSIUS 40,000 45,000 5,000
< 10,000 15,000 25,000
Al 30,000 30,000 0
=20t d=H=03 0 20,000 A20,000
[ 0 20,000 £20,000
307 2I2t01 0 20,000 £20,000
< 0 20,000 £20,000
04 DIZFHAIAIZ E X 0 20,000 £20,000
OX=tt=20ts d=HISU 3 0 20,000 £20,000
< 0 20,000 20,000
HEE sote d=2=403 0 40,000 240,000
< 0 20,000 £20,000
Al 0 20,000 ~20,000
307 2Ito1 0 40,000 240,000
< 0 20,000 20,000
Al 0 20,000 £20,000
04 IZFHALAISE = 0 40,000 40,000
O0l=8 &ite d=2=4Uz 0 40,000 40,000
< 0 20,000 ~20,000




D HMsdE #2438
A=t 22 X

2X=

D 2EEEE S A BRAS [E=Faig=a T,

AR 2A BB S2(BH) - MRAY - BES ofl vy /iE- HnE2
| Al 0 20,000 £20,000
SR MBAFHALSANS 31,000 37,000 8,000
= 6.000 12,000 26,000
Al 25,000 25,000 0
307 212+01 % 31,000 37,000 26,000
= 6,000 12,000 28,000
Al 25,000 25,000 0
04 BIISARAI 2 31,000 37,000 26,000
O3I =) HBAFALSANS] 31,000 37,000 26,000
=3 6,000 12,000 6,000
Al 25,000 25,000 0
HErEa s sl 82203 100,000 105,000 25,000
= 25,000 30,000 25,000
Al 75,000 75,000 0
307 212+o0lH 100,000 105,000 15,000
= 25,000 30,000 25,000
Al 75,000 75,000 0
04 SIS APAIY 2 100,000 105,000 25,000
oust=UE s ZH 2203 100,000 105,000 25,000
= 25,000 30,000 15,000
Al 75,000 75,000 0
SEEE W] 55,000 80,000 A25,000
=3 15,000 40,000 25,000
Al 40,000 40,000 0
307 212+0|H 55,000 80,000 25,000
= 15,000 40,000 £25,000
Al 40,000 40,000 0
04 BIISAPAI 2 55,000 80,000 £25,000
OX=ZYUE IR 55,000 80,000 £25,000
= 15,000 40,000 £25,000
Al 40,000 40,000 0
ORAIOF BAW Uz A4A3| 75,000 125,000 AB50,000
=3 30,000 80,000 A50,000
Al 45,000 45,000 0
307 212+01 T 75,000 125,000 A50,000
=3 30,000 80,000 50,000
Al 45,000 45,000 0
02 BIIAMAI 2 75,000 125,000 50,000
OOHAIOF A WE d4RAYS] 75,000 125,000 50,000
= 30,000 80,000 A50,000
Al 45,000 45,000 0
20,000 40,000 A20,000




D HMsdE #2438
A=t 22 X

2X=

D 2EEEE S A BRAS [E=Faig=a T,

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T

< 10,000 30,000 /20,000

Al 10,000 10,000 0

307 212t01 & 20,000 40,000 20,000

= 10,000 30,000 20,000

Al 10,000 10,000 0

02 QIZHAAAHE X 20,000 40,000 20,000
OUEtH=2 Etl d=tHAAL M2

3 ¥ SEHHl MEXNSHAAILIXS] 20,000 40,000 20,000

S 10,000 30,000 20,000

Al 10,000 10,000 0

2023 EHAE=Z S HAEIE 48,000 0 48,000

L= 48,000 0 48,000

307 212t01 & 48,000 0 48,000

S 48,000 0 48,000

02 QIZHALAIHE X 48,000 0 48,000

02023 EHAE=ZH HAEIS(HAMLSEEALE) 48,000 0 48,000

== 48,000 0 48,000

MEHE 243 X 5,054,811 4,692,311 362,500

J| 2,037,970 2,037,970 0

S 1,126,934 754,434 372,500

Al 1,889,907 1,899,907 10,000

MET L 2T SN2+ 20,000 30,000 10,000

401 AIEHIZL S OHLI 13,000 23,000 10,000

01 AIZHI 13,000 23,000 210,000

OMEHE 2& KRAEx 13,000 23,000 A 10,000

et 8=8203 12,000 0 12,000

= 12,000 0 12,000

307 212t01& 12,000 0 12,000

S 12,000 0 12,000

02 QIZHAAAHE X 12,000 0 12,000

OXetLG =SS (AL EAIR) 12,000 0 12,000

= 12,000 0 12,000

d== FAd s|YU=s Bi20HE 7,000 0 7,000

== 7,000 0 7,000

307 212t01& 7,000 0 7,000

L= 7,000 0 7,000

02 QIZHAAAEE X 7,000 0 7,000
OY== HAUW s|UlLts RIS (0laS

HHALE) 7,000 0 7,000

S 7,000 0 7,000

ZRE BN REUE S0 && 2,000 0 2,000

= 2,000 0 2,000

307 212t01 & 2,000 0 2,000




S22 A MG
HEHE 243
MEH =S 243 KJ (St &)
= - 2A - B - DA (FH) - HRAY - BES (1;| Palgely | & A Hlwsz2
[ 2,000 0 2,000
2 QIZHEAMANEEX 2,000 0 2,000
OLAT XA HRE WS F20U3E &8(
OlASEEEAIR) 2,000 0 2,000
T 2,000 0 2,000
Holl? ESAH S50 MU A 4,000 0 4,000
= 4,000 0 4,000
307 212+01 A 4,000 0 4,000
& 4,000 0 4,000
02 QIZHA A AL E X 4,000 0 4,000
oddiz ESLHH S350 M2IF2US &
S ASEENALE) 4,000 0 4,000
[ 4,000 0 4,000
NESEXXA SR S52128 dIF2U3S 4,000 0 4,000
= 4,000 0 4,000
307 212+01 ™ 4,000 0 4,000
& 4,000 0 4,000
02 QIZHBAAIEER 4,000 0 4,000
ONZSELYXXAl Sl S502Y M=2F
TS (AL EAIR) 4,000 0 4,000
& 4,000 0 4,000
MNEEENUXT &0 O2tE 3l 20,000 0 20,000
[ 20,000 0 20,000
307 2I2+0I & 20,000 0 20,000
T 20,000 0 20,000
02 CIZIAMAIH E X 20,000 0 20,000
ONMSSEYXNXE S0 Oi2tE sl (0lars
HEAIE) 20,000 0 20,000
& 20,000 0 20,000
A=A E MEMSESAUS 10,000 0 10,000
& 10,000 0 10,000
307 2Iz2+0l™ 10,000 0 10,000
= 10,000 0 10,000
02 QIZtBAAIE E R 10,000 0 10,000
OFFAIE I EU MEHNSEAUS (MlAS
HEALE) 10,000 0 10,000
= 10,000 0 10,000
St=ti G XHOt0IABH212l & 2,000 0 2,000
& 2,000 0 2,000
307 QIZ2t01 A 2,000 0 2,000
[ 2,000 0 2,000
2 QIZHEAMANEEX 2,000 0 2,000
Ost=tl o4 Xtotol A 21 EE (Ml AtE E
HAIE) 2,000 0 2,000




AR 2 HSE= SA  HSARID
HM: HKIE 43
el MBS 243 X (St &)
A 2A - B . HA(SH) - MIRAIY - ® Ol Ared J| ¥ o HnszZ
| [ 2,000 0 2,000
2023 |-LEAGUE OIS=EH =205 &H 3,000 0 3,000
[ 3,000 0 3,000
307 eIZto| & 3,000 0 3,000
[ 3,000 0 3,000
02 DIZHHAIAIAE = 3,000 0 3,000
02023 |-LEAGE M2 HESEM SR0UE =
MO AFSRIMALR) 3,000 0 3,000
[ 3,000 0 3,000
HO3| THEHEHOHQIA I MREHOY OIS THS 20,000 0 20,000
[ 20,000 0 20,000
307 eIZto| & 20,000 0 20,000
[ 20,000 0 20,000
02 DIZHHAAIAE X 20,000 0 20,000
©x+|9s>J CHEHE ORI - o1ey M ROl
CH3l (OIS RITALR) 20,000 0 20,000
[ 20,000 0 20,000
20234 MFEA SHF0 MBS HISOIEUE 5,000 0 5,000
[ 5,000 0 5,000
307 eIZtol ™ 5,000 0 5,000
[ 5,000 0 5,000
02 DIZHHAAE X 5,000 0 5,000
02023 HFAl SHFOIMSH S HHSQIE
CHEI (Ol AFS RITALR) 5,000 0 5,000
[ 5,000 0 5,000
2023 et Zae|d 15,000 0 15,000
[ 15,000 0 15,000
307 Q10| 15,000 0 15,000
[ 15,000 0 15,000
0P DIRFAANAI B X 15,000 0 15,000
0023 Met=E ZAR| J(HASEMAIR) 15,000 0 15,000
[ 15,000 0 15,000
H103] BAEDZTI|RIEN AILIO A &2 & - o Bf 3,000 0 3,000
I & X
[ 3,000 0 3,000
307 eI2to| & 3,000 0 3,000
[ 3,000 0 3,000
02 DIZHHAAIA B = 3,000 0 3,000
ORM108] HADZEJIIXHH AILIOT AH &=
S HHROHE S8 K0S BEALR) 3,000 0 3,000
[ 3,000 0 3,000
2023 MFEAIZH MESEOHQIEIR S 5,000 0 5,000
[ 5,000 0 5,000
307 eIZHol ™ 5,000 0 5,000




S22 2A s
=g 243
HET S Sd3t XF (St &)
= 2M - ZH - SA(3AH) - MIRAY - BES Oi &F2H N3 Hws2Z
(== 5,000 0 5,000
02 QItBAAIHE R 5,000 0 5,000
©2023 M=AIZH HM=ZOHIEF RIS (0l &
HEEAE) 5,000 0 5,000
= 5,000 0 5,000
Ni2gl 9| Hld detss s 10,000 0 10,000
= 10,000 0 10,000
307 212t01 & 10,000 0 10,000
= 10,000 0 10,000
02 QIRHEAAIHE X 10,000 0 10,000
OHM23 A9 HIA MetEE
(G- EALS) 10,000 0 10,000
(== 10,000 0 10,000
2023 &7 BT Stote U=A 10,000 0 10,000
= 10,000 0 10,000
307 212t01 & 10,000 0 10,000
s 10,000 0 10,000
02 QIZHHLAIHE X 10,000 0 10,000
©2023 8t ENAT stote THE Aol
AHE) 10,000 0 10,000
= 10,000 0 10,000
Higsl MANFRIIX HMIZFF 3,000 0 3,000
(== 3,000 0 3,000
307 2I2t01H 3,000 0 3,000
= 3,000 0 3,000
02 QIZHBAAIYE X 3,000 0 3,000
OBl &HLNZ=7I| Xl
A X (ML HTALE) 3,000 0 3,000
& 3,000 0 3,000
2023 210s 2|3l 30,000 0 30,000
= 30,000 0 30,000
307 212t01& 30,000 0 30,000
= 30,000 0 30,000
02 QIZHAAAHE XL 30,000 0 30,000
©2023 211s MHEAD|H3 30,000 0 30,000
= 30,000 0 30,000
2023 HMet=E MEMSHIERIH 20,000 0 20,000
= 20,000 0 20,000
307 gI2tol M 20,000 0 20,000
[ 20,000 0 20,000
02 QIZHAAAEE X 20,000 0 20,000
02023 HMet=ss ME X S
SO EMALS) 20,000 0 20,000
= 20,000 20,000




A BRAS [E=Faig=a T,

M HSE 2435
el MBS 243 X (St &)
a A - - SA(SH) - NISAS - BES Oi &F2H N3 Hws2Z
Mozl SLeEH d=2XNMEBHAIIASEHE =& 4,000 0 4,000
= 4,000 0 4,000
307 212t01& 4,000 0 4,000
= 4,000 0 4,000
02 QIZHAAAH 2L 4,000 0 4,000
OMbal S| & M=XMEHIMIZE
3l SE(MALEMALE) 4,000 0 4,000
= 4,000 0 4,000
M2l MSOIFHUS|IZHY SHO0HS TIPS 10,000 0 10,000
s 10,000 0 10,000
307 212t01 & 10,000 0 10,000
[ 10,000 0 10,000
02 QItBAAIHE X 10,000 0 10,000
ORNI2s| MET AW N oS TS
(I EALS) 10,000 0 10,000
= 10,000 0 10,000
2023 M55 JBEF RAE ZAUS 10,000 0 10,000
= 10,000 0 10,000
307 212t01& 10,000 0 10,000
= 10,000 0 10,000
02 QIZHHLAIHE L 10,000 0 10,000
©2023 HI53| JBEF FAEZAS (OlAtE S
AHE) 10,000 0 10,000
[ 10,000 0 10,000
2023 &HHIE EH0ls =22 S22 5,000 0 5,000
= 5,000 0 5,000
307 2I2t01H 5,000 0 5,000
= 5,000 0 5,000
02 QIZHBAAIIE R 5,000 0 5,000
©2023 SHHIE 80t =52 FXUSI(0IAHA
HEAIS) 5,000 0 5,000
= 5,000 0 5,000
Kigal MF=AIEEI| M=EU3 10,000 0 10,000
[ 10,000 0 10,000
307 212t01 & 10,000 0 10,000
= 10,000 0 10,000
02 QIZHALAIH E X 10,000 0 10,000
ORXIgal M=AIEIIEI| HIERHSI (0L
HENAE) 10,000 0 10,000
= 10,000 0 10,000
M233| stits =53 703 8,000 0 8,000
= 8,000 0 8,000
307 212t01& 8,000 0 8,000
[ 8,000 0 8,000




A RIMSZES 2A  MSAD
M HSEUE 243
el MBS 243 X (St &)
A - 24 - 38 - HA(3) - MM - BES Oi &F2H N3 Hws2Z
02 QIZHBAAIYE X 8,000 0 8,000
OHM233| st E53l SRUs(olaEEH
AHE) 8,000 0 8,000
& 8,000 0 8,000
2023 =8t ALIAH =HbH720HS 3,000 0 3,000
T 3,000 0 3,000
307 212t01& 3,000 0 3,000
= 3,000 0 3,000
02 QIZHAAAHE X 3,000 0 3,000
02023 M=5t=2 AILIGAH =S (ol
FNPI=FSINE=) 3,000 0 3,000
= 3,000 0 3,000
Mg 22t 8= MEHs =203 28X 2,000 0 2,000
& 2,000 0 2,000
307 gIztold 2,000 0 2,000
(= 2,000 0 2,000
02 QIHBAAIH E R 2,000 0 2,000
OM13 22UFU d= MEHs SFUS
SN (G SHALS) 2,000 0 2,000
= 2,000 0 2,000
2023 2SS &= =303 XA 3,000 0 3,000
= 3,000 0 3,000
307 212t01 & 3,000 0 3,000
= 3,000 0 3,000
02 QIRHEAAIHE X 3,000 0 3,000
02023 =2l 8= =205 SEXIA (0L
SHEFALE) 3,000 0 3,000
(== 3,000 0 3,000
2023 dMet=k stits &+ 03l 10,000 0 10,000
= 10,000 0 10,000
307 212t01 & 10,000 0 10,000
s 10,000 0 10,000
02 QIZHHLAIHE XL 10,000 0 10,000
©2023 Met=S stotg EF0E (KoL A
AHE) 10,000 0 10,000
= 10,000 0 10,000
2023 E8 AECIOIAH HUled S22 10,000 0 10,000
(= 10,000 0 10,000
307 2I12t01H 10,000 0 10,000
= 10,000 0 10,000
02 BIZHBAAIYE X 10,000 0 10,000
02023 =& AER0IH HIAHY 203/ (0
AHEETALR) 10,000 0 10,000
s 10,000 10,000




IS g4zt
dHEH=s gdst XN

A BRAS [E=Faig=a T,

AT 2A B BR(E) - HRAY - BES 0 & ol & o HimEE]
KBA 3x3 KOREA TOUR 2023 Itold &F=0H3l 5,500 0 5,500
= 5,500 0 5,500
307 gI2tol M 5,500 0 5,500
= 5,500 0 5,500
02 QIRHHAAIHE X 5,500 0 5,500
OKBA 3x3 KOREA TOUR 2023 THOlE HZ=CHS (Ol At
ERSINED 5,500 0 5,500
= 5,500 0 5,500
2023 dMet=S nsZtl €108 2,000 0 2,000
s 2,000 0 2,000
307 QI2HO| M 2,000 0 2,000
= 2,000 0 2,000
02 QItBAAIHE X 2,000 0 2,000
02023 HMetEE g2l 22013 (olaS
SEALE) 2,000 0 2,000
= 2,000 0 2,000
Mg M=LEH a3 =Z03 10,000 0 10,000
= 10,000 0 10,000
307 QI2HOl A 10,000 0 10,000
= 10,000 0 10,000
02 QIRHEAAIEE R 10,000 0 10,000
OMg M=L2H IIA3ZUs (daASE
HALS) 10,000 0 10,000
= 10,000 0 10,000
Mgl =AIA ALIE ZAUE 10,000 0 10,000
= 10,000 0 10,000
307 QI2Hol M 10,000 0 10,000
= 10,000 0 10,000
02 QIRHEAAIH B X 10,000 0 10,000
OHMI13] FAIA ALIE ZAUE(MAEEHA
AHE) 10,000 0 10,000
= 10,000 0 10,000
2023 MEEEXNXEINE HMU=EE HASHUE 10,000 0 10,000
= 10,000 0 10,000
307 gI2Hol ™ 10,000 0 10,000
= 10,000 0 10,000
02 QIRHHAAIHE X 10,000 0 10,000
ON=EEENXZINE HUA=EEHMSAU
S (M AEEIEALR) 10,000 0 10,000
= 10,000 0 10,000
2023 =2UXN=SHEH S52+FU3 7,000 0 7,000
= 7,000 0 7,000
307 gI2tol ™ 7,000 0 7,000
= 7,000 0 7,000




A= A2 2A 1 Msard
I KIS 243
el MBS 243 X (St &)
A 2A - B . HA(SH) - MIRAIY - BES Ofl kel | & A Hlns
02 QIHEAMAIHE X 7,000 0 7,000
02023 ZOUIMSHE SSlI=AUSI(0flarS
EEAIR) 7,000 0 7,000
[ 7,000 0 7,000
2023 MFE B2 RIS 5,000 0 5,000
[ 5,000 0 5,000
307 QI2+0|& 5,000 0 5,000
(= 5,000 0 5,000
02 LI EAMAIHB X 5,000 0 5,000
02023 M SIS QIMHSI (HAISE B EALR) 5,000 0 5,000
[ 5,000 0 5,000
M35l H=Al BH0IS 2Ll sl 5,000 0 5,000
[ 5,000 0 5,000
307 QI2+0| & 5,000 0 5,000
(= 5,000 0 5,000
02 LHEAMAIHB X 5,000 0 5,000
©2023 MEA| BH0IE LYY TIELIATEI(
AL - EALE 5,000 0 5,000
(= 5,000 0 5,000
ZOHHSO SRS I 2023 KACA OIOIE=0 2EM 3 10,000 0 10,000
[ 10,000 0 10,000
307 QI2+0|& 10,000 0 10,000
(= 10,000 0 10,000
02 It P AAIRE X 10,000 0 10,000
OFMHSO SAS 2B 2023 KACA OFOFEO
SIS (HALERAIR) 10,000 0 10,000
(= 10,000 0 10,000
2023 M2SSOI0FR2E = OFRUE 5,000 0 5,000
(= 5,000 0 5,000
307 QI2+0|& 5,000 0 5,000
[ 5,000 0 5,000
02 DIt EAAIHE X 5,000 0 5,000
02023 M=2SSCI0228 =& oFUE! (ol
ME-EAIE) 5,000 0 5,000
(= 5,000 0 5,000
2023 MEXNE A2 SIS HIEQIE TS 10,000 0 10,000
(= 10,000 0 10,000
307 QI2+0|& 10,000 0 10,000
[= 10,000 0 10,000
02 QIHEAMAIHE X 10,000 0 10,000
02023 MEMS Al SIS BISOIE TS (ol
ASEIEAIR) 10,000 0 10,000
[ 10,000 10,000
2023 SHHIE L3398 QEYRS 7,000 7,000




A RIMSZES 2A  MSAD
M HSEUE 243
el MBS 243 X (St &)
A - 24 - 38 - HA(3) - MM - BES Oi &F2H N3 Hws2Z
(== 7,000 0 7,000
307 2I2t01H 7,000 0 7,000
= 7,000 0 7,000
02 BIZHBAAIYE X 7,000 0 7,000
©2023 StEtE HE3M92 QEZPUS(HlAHE
HAS) 7,000 0 7,000
s 7,000 0 7,000
2023 M==502 202U 6,000 0 6,000
= 6,000 0 6,000
307 212t01& 6,000 0 6,000
= 6,000 0 6,000
02 QIZHAAAE 2L 6,000 0 6,000
02023 M==50! TMef=2etoI sl (ollake
EXAIR) 6,000 0 6,000
= 6,000 0 6,000
2023 Ht=E P SEE RS 10,000 0 10,000
s 10,000 0 10,000
307 gIztol 10,000 0 10,000
[ 10,000 0 10,000
02 QItBAAIHE R 10,000 0 10,000
02023 HMet=E HEHSHETUSI (oML
EHAIR) 10,000 0 10,000
= 10,000 0 10,000
023 M5 HISoE 43518 s JIEs0tY 5,000 0 5,000
= 5,000 0 5,000
307 212t01& 5,000 0 5,000
= 5,000 0 5,000
02 QIRHEAAIHE X 5,000 0 5,000
02023 M= HHERIE 2HSIE I8 JIEEH0L
g Hal (M EEEAIS) 5,000 0 5,000
(= 5,000 0 5,000
M= 2SI ST SHHSUE 5,000 0 5,000
= 5,000 0 5,000
307 2I2t01H 5,000 0 5,000
= 5,000 0 5,000
02 QIZHHLAIHE X 5,000 0 5,000
OXZF 2NSUWIABIT SHOISURI (0lAE &
TALE) 5,000 0 5,000
= 5,000 0 5,000
M= 243t 32,955,090 42,059,400 29,104,310
| 1,540,000 2,540,000 A 1,000,000
£ 2,500,000 1,500,000 1,000,000
s 600,000 1,000,000 A400,000
Al 27,415,090 37,019,400 29,604,310




]

= ZaH=s2E=

g M= g4zt

el MSASAIE X

A BRAS [E=Faig=a T,

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T
== 900,000 0 900,000
HEEAL XA 32,955,090 42,059,400 29,104,310
Il 1,540,000 2,540,000 1,000,000
£ 2,500,000 1,500,000 1,000,000
S 600,000 1,000,000 400,000
Al 27,415,090 37,019,400 9,604,310
S 900,000 0 900,000
== AUMSs2 2E 0 5,400,000 25,400,000
401 AlIEHIZL 2 OHYI 0 5,400,000 25,400,000
01 Al&HI 0 5,400,000 25,400,000
(OFSESRPIN ps(E= i) 0 5,400,000 25,400,000
== HENMEHEI|E 0 2,000,000 2,000,000
0 1,000,000 21,000,000
0 1,000,000 1,000,000
401 AlIEHIZL 2 0HY| 0 2,000,000 2,000,000
0 1,000,000 21,000,000
0 1,000,000 1,000,000
01 AlIZHI 0 2,000,000 22,000,000
Od=F Z2HHEZ] 0 2,000,000 22,000,000
0 1,000,000 1,000,000
L= 0 1,000,000 1,000,000
NS dEURS = 2,712,715 2,810,000 N97,285
401 AIEHIZ 2018 2,302,715 2,400,000 N97,285
01 A&l 2,269,715 2,367,000 N97,285
ONSH MEUXf 2,269,715 2,367,000 N97,285
massd 24 74,000 110,000 A36,000
401 AlIEHIZL 2 0HY| 74,000 110,000 236,000
01 AIZHI 74,000 110,000 36,000
oua==Zd =4 74,000 110,000 36,000
HEAIE RX2 195,700 206,000 10,300
201 ZEt2 & 195,700 206,000 /10,300
02 2324l 195,700 206,000 10,300
OaUM=2 tHEE 180,700 191,000 10,300
HMSAL2E Al82els 12,334,645 12,613,400 N278,755
309 M=z 12,044,645 12,323,400 N278,755
01 SA- SHILH 12,044,645 12,323,400 N278,755
ONMsAd2H 23X 12,044,645 12,323,400 N278,755
404 SAIESH =S 290,000 290,000 0
01 2At- SEHI2ES 290,000 290,000 0
OHMSAIL 2 A 290,000 290,000 0
MSAL |22 79,159 100,000 A20,841
401 AlIEHIZL 2 OHYI 79,1859 100,000 A20,841




D 2EEdE=

o

M= g4dEt
D HMsAEAE X

A BRAS [E=Faig=a T,

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T
01 AlIEHI 79,159 100,000 AN20,841
OHMSAIE el28d 79,159 100,000 220,841
FEHZIE AL B 1,330,000 2,600,000 21,270,000
401 AlEHIZL R OHYI 1,330,000 2,600,000 1,270,000
01 Al&Hl 1,330,000 2,600,000 1,270,000
OEEHIIE AL B 1,330,000 2,600,000 1,270,000
FEH=UY SHORA HES 910,000 1,100,000 A 190,000
401 AIEHIZL S OHLI 910,000 1,100,000 A 190,000
01 AIZHI 910,000 1,100,000 A 190,000
OEEZH=TY SHoIRA HES 910,000 1,100,000 A 190,000
2R Ms4EH 2E 1,106,555 2,380,000 A1,273,445
| 200,000 200,000 0
Al 906,555 2,180,000 A1,273,445
401 AlIEHIZL R OHY| 1,106,555 2,380,000 A1,273,445
| 200,000 200,000 0
Al 906,555 2,180,000 N1,273,445
01 Al&Hl 1,106,555 2,380,000 A1,273,445
OgRd M=HE HE 906,555 2,180,000 1,273,445
A= SEAZXER =XE =4 11,817 1,000,000 A988,183
401 AIEHIZL S OHLI 11,817 1,000,000 088,183
01 AIZHI 11,817 1,000,000 A088, 183
ON=*= SEAZXER F=XE =4 11,817 1,000,000 A988, 183
SAHHE SR MEORE =4 970,000 1,000,000 /30,000
401 AIEHIZL 2 0HY| 970,000 1,000,000 /30,000
01 AlIEHI 970,000 1,000,000 /30,000
O ASE MEOFE =4 970,000 1,000,000 /30,000
oletel ARIAIE HELSA 900,000 300,000 600,000
= 600,000 0 600,000
Al 300,000 300,000 0
401 AIEHIZ 2018 900,000 300,000 600,000
S 600,000 0 600,000
Al 300,000 300,000 0
01 AIZHI 900,000 300,000 600,000
Oeletel MAAIIE HEFBAHES) 900,000 300,000 600,000
L= 600,000 0 600,000
Al 300,000 300,000 0
SHEHS 2 SZ N 640,000 500,000 140,000
Al 440,000 500,000 60,000
&= 200,000 0 200,000
401 AlEHIZL R OHYI 640,000 500,000 140,000
Al 440,000 500,000 260,000
&E 200,000 0 200,000




]

= ZaH=s2E=

g M= g4zt

el MSASAIE X

A BRAS [E=Faig=a T,

AR R4 - B SAE) - HRAY - BES il v ol ® o HimE=T

01 AlIEHI 640,000 500,000 140,000

Oztets2 SZ NS 640,000 500,000 140,000

Al 440,000 500,000 260,000

&= 200,000 0 200,000

S3MFAIE QUL ExSAt 89,757 100,000 10,243

401 AIEHIZ 2018 89,757 100,000 10,243

01 Al&Hl 89,757 100,000 N10,243

OZ3SHMESAIE QIEXL E=ZA 89,757 100,000 A10,243

LIS HSAIAE WX 450,000 1,500,000 1,050,000

J| 450,000 450,000 0

Al 0 1,050,000 1,050,000

401 AIEHIZL 2 0HY| 450,000 1,500,000 1,050,000

| 450,000 450,000 0

Al 0 1,050,000 1,050,000

01 AlIZHI 450,000 1,500,000 21,050,000

OL&EINY USAIAE Wi 450,000 1,500,000 21,050,000

Il 450,000 450,000 0

Al 0 1,050,000 1,050,000

FEHFINE ESSHEEX Xl & JIAH L e 660,587 700,000 N39,413

J| 210,000 210,000 0

Al 450,587 490,000 A39,413

401 AlIEHIZL 2 0HY| 660,587 700,000 A39,413

J| 210,000 210,000 0

Al 450,587 490,000 A39,413

01 AlIEHI 660,587 700,000 A39,413
OEEZEINE ESSHNEEX £X] & JIAHE

gl JH« 660,587 700,000 A39,413

| 210,000 210,000 0

Al 450,587 490,000 A39,413

S EHNSSE BILIAZ A 380,000 600,000 220,000

J| 180,000 180,000 0

Al 200,000 420,000 A220,000

401 AIEHIZL SO 380,000 600,000 A220,000

J| 180,000 180,000 0

Al 200,000 420,000 A220,000

01 AIZHI 380,000 600,000 220,000

Oz HMEHSSE HUAZE A 380,000 600,000 220,000

| 180,000 180,000 0

Al 200,000 420,000 A220,000

SRS F=XE 723 SA 320,155 350,000 N29,845

401 AIEHIZ 2018 320,155 350,000 N29,845

01 Al&HI 320, 155 350,000 N29,845

OshtMsE2 =XHE 7RI3E SAE 320, 155 350,000 N29,845




D 2EEdE=

o

M= g4dEt

A BRAS [E=Faig=a T,

ciol: HSHEAL K LR
4224 BH - OS(SH) - AN - BaS of e o= o HIDS2
SNBSS S8 OEXC0 DAl 2,400,000 0 2,400,000
= 1,000,000 0 1,000,000
A 1,400,000 0 1,400,000
401 AI2BIZ2CHY 2,400,000 0 2,400,000
= 1,000,000 0 1,000,000
A 1,400,000 0 1,400,000
01 A=l 2,400,000 0 2,400,000
OVNMBHSDY HPF XX DA 2,400,000 0 2,400,000
= 1,000,000 0 1,000,000
A 1,400,000 0 1,400,000
ZTASAE 278 OXA0 oA 700,000 0 700,000
c= 700,000 0 700,000
401 AIZHI = CHY 700,000 0 700,000
c= 700,000 0 700,000
01 Al 700,000 0 700,000
OZBASAIE S7F AXRC0 DA 700,000 0 700,000
c= 700,000 0 700,000
CFEREREED 862,504 509,019 263,43
BANE (SO 862,504 509,019 263,43
ScHEEavE (MM 862,504 509,019 263,48
802 BrEZIIES 862,504 509,019 263,43
NEREEETEE 206,210 0 206,210
O2RIE ZOHBASH Y BT L 0|
X 7,937 0 7,987
0202 HORIMEHSKIET BHX AL 22,43 0 22,43
O AEEBE0|B 74,219 0 74,219
O2R2E 0RO AEEAF0ISH 14,326 0 14,326
ORI U, RAW, 024 MBUSTE
X 41,463 0 41,463
ON2H UL, RAM, 024 MBHSTE
X 45,829 0 45,829
@ Al - CHEEIUED 656,204 509,019 57,275
0N MEHS ZEIEHSAAI 1,380 0 1,380
O AEEZE0IBH 15,903 0 15,903
O FOHQl AL EAT0IBH 3,070 0 3,070
O (HE0ITe} BE MBHST2 I
29 3 3
O MEHS S50210 29 1,188 1,188
0N MBHSDA S 26,238 26,238
OFZOIHOIAE ANE S 2I|2 B2
2o H=10h3) 1,148 1,148
O3z Hel2 HRLRHS 413 413
022 MEASDS IEBTENIEA)]
= H=E50I0)3 600 0 600




A= 2stMs2E= A ML
M HRBS(HSAD
ool BEIS(MSASD) (SH &)
A= 24 - 3 SR(3) - NIRAY - BES Off &K & A HnsZ
OXFE=20IE HRATX2210/YS50l
CHal 1 0 1
02023 MFAIRIE2E SHXR 1 0 1
©2022¢ S H=E H=EU3 3,375 0 3,375
ON= 2x4H CIHIEHE 1,009 0 1,009
OgtotE Tl=tal 124 0 124
©2022" d=XIMEOHRI M= CHE 2,702 0 2,702
OEFHIHAL XSS ZH 33 &=+
3l 1 0 1
O&=AIEEI| €73 26 0 26
Odct= At &2 S22 13 0 13
Od==s0teI=s-Ua &H 80 0 80




